This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 2 - Preston Seton and Gosford

6,421

4

1,285

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Paul BROWN	Alba Party for Independence	66
Lachlan BRUCE	Scottish Conservative and Unionist	1,314
Neil GILBERT	Scottish National Party (SNP)	1,156
Ben MORSE	Scottish Liberal Democrats	211
Tim PORTEUS	Scottish Greens - Think Global Act Local	371
Brooke RITCHIE	Scottish Labour Party	978
Janis WILSON	Scottish National Party (SNP)	756
Colin YORKSTON	Scottish Labour Party	1,569
	Total	6,421

Candidate Lachlan BRUCE Elected with 1,314 votes, being in excess of the quota of 1,285 Candidate Colin YORKSTON Elected with 1,569 votes, being in excess of the quota of 1,285

This report contains the transfers results.

Stage 2 - Surplus of Colin YORKSTON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil GILBERT	24	0.18100	4.34400
Transfer to Ben MORSE	23	0.18100	4.16300
Transfer to Tim PORTEUS	28	0.18100	5.06800
Transfer to Brooke RITCHIE	1,338	0.18100	242.17800
Transfer to Janis WILSON	40	0.18100	7.24000
No further preference	112	0.18100	20.27200
Not transferred due to rounding			0.01100
	Total		284.00000

This report contains the transfers results.

Stage 3 - Surplus of Lachlan BRUCE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ben MORSE	345	0.02207	7.61415
Transfer to Brooke RITCHIE	351	0.02207	7.74657
No further preference	543	0.02207	11.98401
Not transferred due to rounding			0.00002
	Total		29.00000

This report contains the transfers results.

Stage 4 - Exclusion of Paul BROWN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil GILBERT	25	1.00000	25.00000
Transfer to Ben MORSE	7	1.00000	7.00000
Transfer to Tim PORTEUS	7	1.00000	7.00000
Transfer to Brooke RITCHIE	4	1.00000	4.00000
Transfer to Janis WILSON	11	1.00000	11.00000
Transfer to Brooke RITCHIE	2	0.18100	0.36200
Transfer to Ben MORSE	5	0.02207	0.11035
Transfer to Brooke RITCHIE	1	0.02207	0.02207
No further preference	12	1.00000	12.00000
No further preference	2	0.18100	0.36200
No further preference	4	0.02207	0.08828
Not transferred due to rounding			0.00000
	Total		66.94470

This report contains the transfers results.

Stage 5 - Exclusion of Ben MORSE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil GILBERT	14	1.00000	14.00000
Transfer to Tim PORTEUS	47	1.00000	47.00000
Transfer to Brooke RITCHIE	90	1.00000	90.00000
Transfer to Janis WILSON	13	1.00000	13.00000
Transfer to Tim PORTEUS	3	0.18100	0.54300
Transfer to Brooke RITCHIE	12	0.18100	2.17200
Transfer to Janis WILSON	1	0.18100	0.18100
Transfer to Neil GILBERT	8	0.02207	0.17656
Transfer to Tim PORTEUS	24	0.02207	0.52968
Transfer to Brooke RITCHIE	160	0.02207	3.53120
Transfer to Janis WILSON	1	0.02207	0.02207
No further preference	54	1.00000	54.00000
No further preference	7	0.18100	1.26700
No further preference	157	0.02207	3.46499
Not transferred due to rounding			0.00000
	Total		229.88750

This report contains the transfers results.

Stage 6 - Surplus of Brooke RITCHIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil GILBERT	89	0.03238	2.88182
Transfer to Tim PORTEUS	204	0.03238	6.60552
Transfer to Janis WILSON	97	0.03238	3.14086
Transfer to Neil GILBERT	59	0.00586	0.34574
Transfer to Tim PORTEUS	172	0.00586	1.00792
Transfer to Janis WILSON	91	0.00586	0.53326
Transfer to Neil GILBERT	15	0.00071	0.01065
Transfer to Tim PORTEUS	44	0.00071	0.03124
Transfer to Janis WILSON	5	0.00071	0.00355
No further preference	682	0.03238	22.08316
No further preference	1,030	0.00586	6.03580
No further preference	448	0.00071	0.31808
Not transferred due to rounding			0.01424
	Total		43.01184

This report contains the transfers results.

Stage 7 - Exclusion of Tim PORTEUS

Transfer to Janis WILSON 154 1.00000 154.00000 Transfer to Neil GILBERT 6 0.18100 1.08600 Transfer to Janis WILSON 5 0.18100 0.90500 Transfer to Neil GILBERT 45 0.03238 1.45710 Transfer to Janis WILSON 37 0.03238 1.19806 Transfer to Neil GILBERT 1 0.02207 0.02207 Transfer to Neil GILBERT 26 0.00586 0.15236 Transfer to Janis WILSON 28 0.00586 0.16408 Transfer to Neil GILBERT 18 0.00071 0.01278 Transfer to Janis WILSON 16 0.00071 0.01136 No further preference 20 0.18100 3.62000 No further preference 122 0.03238 3.95036 No further preference 54 0.02207 1.19178 No further preference 118 0.00586 0.69148 No further preference 118 0.00586 0.69148 No further preference 10 0.00071 0.00710	Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Neil GILBERT 6 0.18100 1.08600 Transfer to Janis WILSON 5 0.18100 0.90500 Transfer to Neil GILBERT 45 0.03238 1.45710 Transfer to Janis WILSON 37 0.03238 1.19806 Transfer to Neil GILBERT 1 0.02207 0.02207 Transfer to Janis WILSON 8 0.02207 0.17656 Transfer to Janis WILSON 28 0.00586 0.16408 Transfer to Neil GILBERT 18 0.00071 0.01278 Transfer to Janis WILSON 16 0.00071 0.0136 No further preference 163 1.00000 163.00000 No further preference 20 0.18100 3.62000 No further preference 122 0.03238 3.95036 No further preference 54 0.02207 1.19178 No further preference 118 0.00586 0.69148 No further preference 10 0.00071 0.00710	Transfer to Neil GILBERT	108	1.00000	108.00000
Transfer to Janis WILSON 5 0.18100 0.90500 Transfer to Neil GILBERT 45 0.03238 1.45710 Transfer to Janis WILSON 37 0.03238 1.19806 Transfer to Neil GILBERT 1 0.02207 0.02207 Transfer to Janis WILSON 8 0.02207 0.17656 Transfer to Janis WILSON 28 0.00586 0.15236 Transfer to Neil GILBERT 18 0.00071 0.01278 Transfer to Janis WILSON 16 0.00071 0.01136 No further preference 163 1.00000 163.00000 No further preference 122 0.03238 3.95036 No further preference 54 0.02207 1.19178 No further preference 118 0.00586 0.69148 No further preference 118 0.00586 0.69148 No further preference 10 0.00071 0.00710	Transfer to Janis WILSON	154	1.00000	154.00000
Transfer to Neil GILBERT 45 0.03238 1.45710 Transfer to Janis WILSON 37 0.03238 1.19806 Transfer to Neil GILBERT 1 0.02207 0.02207 Transfer to Janis WILSON 8 0.02207 0.17656 Transfer to Neil GILBERT 26 0.00586 0.15236 Transfer to Janis WILSON 28 0.00586 0.16408 Transfer to Neil GILBERT 18 0.00071 0.01278 Transfer to Janis WILSON 16 0.00071 0.01136 No further preference 163 1.00000 163.00000 No further preference 20 0.18100 3.62000 No further preference 122 0.03238 3.95036 No further preference 54 0.02207 1.19178 No further preference 118 0.00586 0.69148 No further preference 10 0.00071 0.00710	Transfer to Neil GILBERT	6	0.18100	1.08600
Transfer to Janis WILSON 37 0.03238 1.19806 Transfer to Neil GILBERT 1 0.02207 0.02207 Transfer to Janis WILSON 8 0.02207 0.17656 Transfer to Neil GILBERT 26 0.00586 0.15236 Transfer to Janis WILSON 28 0.00586 0.16408 Transfer to Neil GILBERT 18 0.00071 0.01278 Transfer to Janis WILSON 16 0.00071 0.01136 No further preference 163 1.00000 163.00000 No further preference 20 0.18100 3.62000 No further preference 122 0.03238 3.95036 No further preference 54 0.02207 1.19178 No further preference 118 0.00586 0.69148 No further preference 10 0.0071 0.00710	Transfer to Janis WILSON	5	0.18100	0.90500
Transfer to Neil GILBERT 1 0.02207 0.02207 Transfer to Janis WILSON 8 0.02207 0.17656 Transfer to Neil GILBERT 26 0.00586 0.15236 Transfer to Janis WILSON 28 0.00586 0.16408 Transfer to Neil GILBERT 18 0.00071 0.01278 Transfer to Janis WILSON 16 0.00071 0.01136 No further preference 20 0.18100 3.62000 No further preference 122 0.03238 3.95036 No further preference 54 0.02207 1.19178 No further preference 118 0.00586 0.69148 No further preference 10 0.00071 0.00710	Transfer to Neil GILBERT	45	0.03238	1.45710
Transfer to Janis WILSON 8 0.02207 0.17656 Transfer to Neil GILBERT 26 0.00586 0.15236 Transfer to Janis WILSON 28 0.00586 0.16408 Transfer to Neil GILBERT 18 0.00071 0.01278 Transfer to Janis WILSON 16 0.00071 0.01136 No further preference 20 0.18100 3.62000 No further preference 122 0.03238 3.95036 No further preference 54 0.02207 1.19178 No further preference 118 0.00586 0.69148 No further preference 10 0.00071 0.00710	Transfer to Janis WILSON	37	0.03238	1.19806
Transfer to Neil GILBERT 26 0.00586 0.15236 Transfer to Janis WILSON 28 0.00586 0.16408 Transfer to Neil GILBERT 18 0.00071 0.01278 Transfer to Janis WILSON 16 0.00071 0.01136 No further preference 20 0.18100 3.62000 No further preference 122 0.03238 3.95036 No further preference 54 0.02207 1.19178 No further preference 118 0.00586 0.69148 No further preference 10 0.00071 0.00071	Transfer to Neil GILBERT	1	0.02207	0.02207
Transfer to Janis WILSON 28 0.00586 0.16408 Transfer to Neil GILBERT 18 0.00071 0.01278 Transfer to Janis WILSON 16 0.00071 0.01136 No further preference 20 0.18100 3.62000 No further preference 122 0.03238 3.95036 No further preference 54 0.02207 1.19178 No further preference 118 0.00586 0.69148 No further preference 10 0.00071 0.00710	Transfer to Janis WILSON	8	0.02207	0.17656
Transfer to Neil GILBERT 18 0.00071 0.01278 Transfer to Janis WILSON 16 0.00071 0.01136 No further preference 163 1.00000 163.00000 No further preference 20 0.18100 3.62000 No further preference 122 0.03238 3.95036 No further preference 54 0.02207 1.19178 No further preference 118 0.00586 0.69148 No further preference 10 0.00071 0.00710	Transfer to Neil GILBERT	26	0.00586	0.15236
Transfer to Janis WILSON 16 0.00071 0.01136 No further preference 163 1.00000 163.00000 No further preference 20 0.18100 3.62000 No further preference 122 0.03238 3.95036 No further preference 54 0.02207 1.19178 No further preference 118 0.00586 0.69148 No further preference 10 0.00071 0.00710	Transfer to Janis WILSON	28	0.00586	0.16408
No further preference 163 1.00000 163.00000 No further preference 20 0.18100 3.62000 No further preference 122 0.03238 3.95036 No further preference 54 0.02207 1.19178 No further preference 118 0.00586 0.69148 No further preference 10 0.00071 0.00710	Transfer to Neil GILBERT	18	0.00071	0.01278
No further preference 20 0.18100 3.62000 No further preference 122 0.03238 3.95036 No further preference 54 0.02207 1.19178 No further preference 118 0.00586 0.69148 No further preference 10 0.00071 0.00710	Transfer to Janis WILSON	16	0.00071	0.01136
No further preference 20 0.18100 3.62000 No further preference 122 0.03238 3.95036 No further preference 54 0.02207 1.19178 No further preference 118 0.00586 0.69148 No further preference 10 0.00071 0.00710				
No further preference 122 0.03238 3.95036 No further preference 54 0.02207 1.19178 No further preference 118 0.00586 0.69148 No further preference 10 0.00071 0.00710	No further preference	163	1.00000	163.00000
No further preference 54 0.02207 1.19178 No further preference 118 0.00586 0.69148 No further preference 10 0.00071 0.00710	No further preference	20	0.18100	3.62000
No further preference 118 0.00586 0.69148 No further preference 10 0.00071 0.00710	No further preference	122	0.03238	3.95036
No further preference 10 0.00071 0.00710	No further preference	54	0.02207	1.19178
·	No further preference	118	0.00586	0.69148
	No further preference	10	0.00071	0.00710
Not transferred due to rounding 0.00000	Not transferred due to rounding			0.00000